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HETT- 12

fvg- e e ¥HY- 3 Tl quife- 70

ATHIG foIc9r:-

uStetreff Aremeisia sruot 9regi 3 3= 3l
Candidates should answer in their own words as much as possible.

219l uest siforart 31

All questions are compulsory.

et Uil bl AT 48 3l

Total number of questions is 48.

usl 1 A 25 ad sgidmicu Ut & | Ucdd Ul & ar famcu fou a1 3 18t
ferpcu I TrRI6l DTSRI URID U & fe1u 01 3ic forerif¥a 3

Question No. 01 to 25 are multiple choice questions, each question has four options.

Select the correct option. Each question carries 01 mark.

U%GT FFRT 26 A 34 AP 3fel o JARI Ut 31 BRI A [bodl 7 usell @1 IR
Sotl forart 31 Ui UssT ol Hlol 1 3 forerif¥e 31

Question numbers 26 to 34 are very short answer questions. Out of which it is
mandatory to answer any 7 questions. Each question carries 01 marks.

%1 HIRAT 35 A 42 AD oI I U 3l [Sr1a1 A fbodl 6 il 1 3R Soll
3iforari 31 Ui UGl I 3ol 3 3ib forerifa 3

Question numbers 35 to 42 are short answer questions. QOut of which it is mandatory
to answer any 6 questions. Each question carries 03 marks.

%1 AT 43 A 48 Shek ST uesl 31 fobadl 4 Uil oI 3R ol siforart 3
URID U1 I Il 5 i forerifed 3l

Question numbers 43 to 48 are long answer questions. It is mandatory to answer any 4
questions. Each question carries 05 marks.

Choose the correct answer.
HET 3R T TIA Y|

1. fArAT T # @ leT A1 el HIANTAT 7 Aot g9 Tea3it & desh # Jeg 78 82
a) STYTHA HOTNY sheh HOTAY H IR A grer 2|
b) 3% FISATYT S[UTIY & &9 7 faahfad giar 51
¢) FIHS HOT & &9 H a8t gIar &
d) 3731 Hel & & H fqrfad giar gl

Which one of the following statements regarding the post fertilization events in angiosperms
iS not correct?
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(a) Primary endosperm nucleus develops into endosperm.
(b) Megaspore develops into an embryo sac.

(c) Zygote develops into an embryo.

(d) Ovary develops into fruit.

2. TRIY & SIw o YT iel T gl GILT Y107 o [T eiers &2
a) AreTE A
b) TECIST
SRIGIEG]
d) Ige e

Which hormone is responsible for the secretion of milk after the birth of a baby?
(a) Progesteron
(b) estrogen
(c) prolactin
(d) androgens

3. g ceheileh ToTEeh S@RT Q10T ST TIEMT TN 3TSTO] H hIT STl & -

a) ZIFT
b) GIFT
c) ZIUT
d) ICSI
The technique by which sperm is directly injected into the ovum is: -
(@) ZIFT
(b) GIFT
(c) ZIUT
(dyICsl

4. 9 Y ST & Sl YIFT 7 &7 AT 3Teltel UTC ST &, af 98 Sd ShgdTdar 8-
a) FHAGIHASN
b) fasFrgIA=TS
c) YT
d) gHTar

When the genotype of an organism contains two identical alleles, the organism is
considered as: -
(a) Homozygous
(b) heterozygous
(c) recessive
(d) dominant
5. AT # & fhE Tehe T &g & 82
a) UAG
b) UGA
c) UcC
d) AUG
Which of the following codons has dual function?
(a) UAG
(b) UGA
(c) ucc
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(d) AUG

6. THINES & YW U Hlel & U@ & hRI JATT &, 3d: Ig 3STeI0T § -

a) HHSATT 3T &
b) faweSITT 37T &
c) AvHgIH=TSH
d) FHRYIHT

Wings of bat and wings of insects have similar functions so are examples of :-

(a) Homologous organ
(b) analogous organ
(c) heterozygous

(d) homozygous

7. Teh ST (ST HehT Sileil TT6T | A1° § a5 Tohcl HeG AB T TG 2ol hicll & | SEHeRT ShRUT g

(a) TETeTTAT
ENFUEEICE
c) geTfaar

d) IR fahrR

A person having, | *I® genotype would show the blood group AB. This is because of:

a) Codominance
b) Incomplete dominance
c) Dominance

d) Chromosomal Disorder

8. Ti- TSI HE UTIT ST & —
THSFEIRTH STHI G H I

a) o
b) TONIfRIT Flells
c) Te3HIET faeeifelfedr
d) SeFEIRThor

Ti- plasmid is found in —

a) Agrobacterium tumefaciens
b) Escherichia coli
c) Entamoeba histolytica

d) Bacteriophage
9. 3TATH T Heferet fafRrse ge) o e Joa T ggeiet Y |

a)aRIR —— g

b)HeXdeT —— S CBIR
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C)FTEHRIIT ——  SIITall ITeT

d) SFReTH TSERT 36ATeT —— Fhiel Har

Identify the incorrect pair of the habitat and the particular animal concerned-

a) Periyar —_— Elephant
b) Sundarbans e Bengal Tiger
c) Rann of Kutch —— Wild Ass
d) Dachigam National Park ——  Snow Leopard
10. TUH YUeFehc Ffdelel USlegiFellst AT -
a)EcoRl
b) Bam HI
c) Sail
d) Hind Il

The first restriction endonuclease isolated was
a) EcoRl
b) Bam HI
c) Sail
d) Hind Il
11. T YY) o $OTUIY chy hI AT A IO hT HET 24 & | $8Hh FIHh H UG hl H&IT 4T

c)23
d)12

The cells of endosperm of a plant have 24 chromosomes. What will be the number of
chromosomes in its gametes?

a)8

b) 16

12. fArfafed & @ fore Zoa o1 ATeT=r GATSE Hr gefor A grarg?

a) STeAGX Ud 3T9Ar

b) FcgeX Td ScqaTHe
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¢) STeHEY Ud 3cHards]

d) Fcgex T AT

Which of the following pairs contributes to an increase in population?
a) Natality and immigration

b) Mortality and emigration

c) Natality and emigration

d) Mortality and immigration

13. I Teh 31Tl Taeh 29T ST AT fehe] aTgeh T & SaRT 30e1 $© 7 HATcrdl &l
TATATART T &, 7 TE AR &-

a) 3rforaf gerraY

b) 31feraft 3roraTTaT
c) ToleT TgeTdaT THTaT
GER GG EIEL

If a genetic disease is transferred from a phenotypically normal but carrier female to only some
of the male progeny, the disease is

a) autosomal dominant
b) autosomal recessive
c) sex-linked dominant
d) sex-linked recessive
14. Ig 9TREN S ITRT AT H IR F FHATS, TE & -
a) IgA
b) IgE
c) IgM
d) IgG
The antibody which can cross placental barrier is-
a) IgA
b) IgE
c) IgM
d) IgG

15. QAR & AT foRaT STe Tt TS H & TTeeRy —----mmemmen ST & grerehd feha

a) THRFEIRGH cgHIBIEIT
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b) ¥HT vFIICIFT

c) ?—?’Qﬁﬂg@? UodH

d) NIRRT Fleirs

Enzyme ‘Taq polymerase’ used in PCR, has been isolated from bacterium
a) Agrobacterium tumefaciens

b) Thermus aquaticus

c) Streptomyces albus

d) Escherichia coli

16. IS UThaT o GaRT A A fhT 31T 'IMesel ISH' H — - T TAT I & |
a) ST T 3Tg AT
b) AR Fr 3T AT

EGMGEEIRPCEIEL

d) faerf@T A T 3Ta amEr

‘Golden rice’ developed through transgene approach is enriched with
a) high lysine content

b) high methionine content

c) high glutenin content

d) high vitamin A content

A | -1 - — HTHISA 5|

d) shaeh Td fauro]

Lichens are the associations of
a) bacteria and fungus

b) algae and bacteria

c) fungus and algae

d) fungus and virus

18. I ScuTeeh T I 20 STeT Foil M giell &, Al et e el 5[@relt 7 HR o 91 fohctelt
ST 3TcTetr TgalT

qter - g > |9 > AR
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a) 0.02)
b) 0.002)
c) 0.2)
d) 0.0002 ]

If 20 Joule of energy is trapped at producer level, then how much energy will be available to
peacock as food in the following chain?

Plant >Mice - Snake —>Peacock

a) 0.02)
b) 0.002J
c) 0.2

d) 0.0002)

19. ITE SST5eaR , Shelal Td fgord T Hiefl Y@r 7 39ieyd gf, df 98 sisiis dgelldl o-

a) ﬁ'ﬂ'l'ch'\q'
b) 3freiferaw
c) TEhIEOH
d) FAUSACTH

When micropyle, chalaza and hilum lie in a straight line, the ovule is said to be

a) anatropous
b) orthotropous
c) amphitropous

d) campylotropous

20. faeg v feaw &-

a) 21feEsR
b) 1f&HsR
) 1ddR
d) 59
World AIDS day is
a) December 21
b) December 1
c) November 1
d) June 5
21. Teh WIS &fa@se [afer o qaRT STefel T & | ©: NiGAT & I HATSS H WSS
AT FATGIIN?

a) 128
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d) 32
A protozoan reproduces by binary fission. What will be the number of protozoans in its

population after six generations?
a) 128
b) 24
c) 64
d) 32
22. Ueh WIS SITAT 3107 & Fagfad fa 9 g &-

a) ShieQIH IduT &

b) TSI fFeIUsT USTSH

c) 3YFTAA &R

d) fAruTger 5o E

The sticky ends of a fragmented DNA molecule are made of

a) calcium salts
b) endonuclease enzyme
c) unpaired bases
d) methyl groups
23. XX-XO TR T XX-XY TR o fTelar A eiRoT — - &F 3CTEIUT R |

a) AT favFg T
b) 7R AHZIHT

c) 7R fawagaaehr
d) (b) T (c)gr=lt

XX-XO type and XX-XY type of sex determination are the examples of —-----.

a) Female heterogamety
b) Male homogamety
¢) Male heterogamety

d) Both (b) and (c)

24, THRHL T TG AT S TR o 3fefehel Fohicl T frefioT vt 8-
a) GBI AT
SEIGER
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c) 3BT

d) afciemr
The part of gynoecium that determines the compatible nature of pollen is-

a) Synergids

b) Style

c) Ovary

d) Stigma

25. Teh TR A UeToIsh# ehT TR FTS &-

a) §HcI

b) FHSE

c)sia

d) aias

Basic unit of ecological hierarchy is-
a) Community
b) Population
c) Individual

d) Ecosystem

A &g el weet (VERY SHORT ANSWER TYPE QUESTION)

rafaf@a & O foradl a1 &t & 33 &

Write the answers of any seven questions of the following.

26. ITETTS HhIOT T 72

What is a test cross?

27. TSI RITARIV gl ITS SATcT 872

Where are the Leydig cells located?

28. SiieT Fafrcar sFar g7
What is gene therapy?

29. &R fAgH @ 7fad safea & genfaa sieiersy &1 fay |

Write the possible genotype of a person having Turner's Syndrome.

30. g 3iReTeT 37t TS qcie fohat forgr?
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Who wrote the book 'The Origin of Species'?

31. Ueh 08 GEAha o1 1A e foreeht 3uier Sifde @re & &9 # fhar Srarg |

Write the name of a microorganism which is used as a biofertilizer.

32. JTeaiRIehd: ATHT sgforeT Far g2

What is genetically engineered insulin?

33. aifaar & g a 1 |

Define parasitism.

34. 3 STeT g FAT §?
What is a red data book?

argmﬁ‘zrsre;r (Short Answer Type Question)

AFATIRd § O el &: It & 3 S|

Write the answers of any six questions of the following.

35. AT ad &1 [F e H|

A9 | a9

(B) TR HATT 2. A4S
(C) THfSE gefer 3. JRTITOT

Match the following .

Column | Column i
(A) Earthworm. 1. Natality
(B ) Ecosystem services 2. Detritivore
(C) Population growth. 3. Pollination

36. Ueh GRYeFd $UTeRIY ol ATHI fehel T SATT |

Draw a well labelled diagram of a mature embryo sac.

37. SITAT JHaTelTdl 27 §2 $8eh &F eIy T |
What is DNA Fingerprinting? Write it’'s two applications.

38. AR v 39aY AT & AT 37aT TS HY |

Differentiate between convergent and divergent evolution.

39. gRImRT &L |
a) Aereefad
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b) ErehIenToT

Define
(a) Metastasis
(b) Vaccination

40. FellT1aT HaTgeh, GoAAToTel SITAT ceheileh  TohE YR HgcadquT 3{fHehT 38Tl 82

How cloning vectors play an important role in Recombinant DNA Technology?

41. 39 [3f3erar g & AT sRuT FAT §2

What are the various causes of biodiversity loss?

42. AaTer YEPeT T ARATVT Y | Teh TIRAT Y Tg H& FeTTAT LT 872

Define algal bloom. How does it affect an ecosystem?

&rer 398 99 (Long Answer Type Question)

AFIfoTEd 7 & fohedl IR 926l & 3 S|

Write the answers of any four questions of the following.

43. AT A YSIUTSIeTel Td HSSTolel o HEF 3R TISE N |
Differentiate between spermatogenesis and oogenesis in humans.

44. 39gerd 3ETGI0T T HERICT T o [1a Ua faaaieret & foras & sarear #i|

Explain the law of Dominance and The Law of segregation with the help of
suitable examples.

45. 3TfoTd ITaReT Fa7 §72 9% [AffeaT YhR a7 £72 IR Aegadt iaveT fFd 9eR T

I TTSTAhT & ThATT F TATAT &7

What is acquired immunity? What are its various types? How cell mediated
immunity protects the body from the attack of pathogens?

46. 3UFF IRY T FEHIT ¥ FATE afoifes (HR o) &t 9d &1 auie |

Describe population logistic growth model with the help of a suitable diagram.

47.gﬂﬁaﬁﬁw$ﬁﬁwﬁrmﬁrmﬁl

Describe the process of formation of Recombinant DNA.

48. ST 31TRTTFT & fATHA T 3T FIT THSTA &2 b TaTelh T HEIIAT T SHT SITETT |

What do you mean by regulation of gene expression? Explain with the help of lac
operon.

SIRAUS 81D 3loRitIlel ud Ufdrsiur ufdvs, it [arftip u3tetr] [3D1 : 2023- 2024] Page 11 of 12



Answer

1 b 6 b 11 a 16 21 o
2 o 7 a 12 a 17 22 o
3 d 8 a 13 d 18 23 c
4 a 9 a 14 d 19 24 d
5 d 10 d 15 b 20 25 c
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